ROSYTH

e
vy,
- ﬁ -

Rosyth School

First Semestral Assessment 2014
Primary 6 Mathematics

- Name: _ _ A Register No.

‘Class: Pr 6-_

Date: 12th May 2014  Parent's Signature:

Total Time for Booklets A and B : 50 minutes

PAPER 1
{Booklet A)

Instructions fo Pupils:

Do not open this booklet until you are told to do so.

Follow all instructions carefully.

Shade your answers in the Optical Answer Sheet (OAS) provided.
You are not allowed to use a calculator

o H e NS

Answer all questions.

Section Maximum Mark Marks Obtained

Paper 1 (Booklet A) | 20

* This booklet consists of 8 pages (including this cover page)

This paper is not to be reproduced in part or whole without the pemnission of the Principal.



Questions 1 to 10 canry 1 mark each. Questions 11 to 15 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make
your choice (1, 2,3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer
Sheet. T ’ ) R '
{20 marks)

1. A number becomes 4 000 when rounded off to the nearest hundred
Whlch of the fol!owmg could the number be? :

(1) 3919
(2) 3988
(3) 409
@) 4181

2. Which of the following fractions is the largest?

1
(1) 3
o S
2 "
3 =
3 11
s 5
C)) 12
3. Skm1i0Om= km
(1) 5.001
(2) 5.01
3y 5.1
4 5010



What is the missing number in the box?

4:18=171: 45

1y &
2 2
3y 10
4 20

The bar graph shows the favourite ice cream flavour of a group of children.

Favourite Ice Cream Flavours

Number of pupils

Vanilla Strawberry - Chocolate Sweet Comn Butterscotch

’lce cream flavours

What is the difference between the most favourite and least favourite
flavours?

(1) 28
2y 32
(3) 36
4) 4



How many faces does the following solid have?

o

(1) 5
(2 6
@ 7
4 4

Which of the following is a net of a cube?

(1)

@)

(3)

(4)




10.

Find the value of 40 + (5r- 3) x 3, given that r=3.

(1 4
@ 4
@ %
(@4 156

ABCE isa square. AC and DB are straight lines. Find ZABD.

A B
82°
E D C
(1) 45
@
3) 53
@) 98

Zack had the following coins in his wallet.

He used three of the coins fo pay for a pack of sweets. Which of the following
amount could not be the price of the pack of sweeis?

(1) 65¢
(2) oo¢
@) $1.05
@ $1.20




11.  The equilateral triangle and the rectangle shown below have thé same
perimeter. The length of the rectangle is twice its breadth.
If the side of the triangle is 12 cm, whatis the breadth of the rectangle”?

12em

(1) 6cm
2 2cm
@ 9cm
(4 18 cm

3 2
12.  Agnes and Mandy collect stickers. = of Agnes’ stickers is equalto P of

Mandy’s stickers. If Agnes has 30 stickers, how many stickers do they have

altogether?
(1) 45
2 75
& 3

4 150



13.  The figure below is made up of identical rhombuses.

Find Za+ /b + Zc + «d.

(1) 224
@ 248°
(3) 272
@) 49%°

14.  In the figure below, ABC is a triangle. DE is a straight line, parallel to AB.

Find ZECD.
A
47°
D
81°
B E c
(1) 18
2 3#
(3) 52
(4) 128°



15.

The ratio of number of magazines to number of books on a shelf is 5: 7.
10 more magazines are added while 4 books are removed from the shelf.

The number of magazines and books are the same now.
How many books are there on the shelf at first?

(1
(2)
(3)
(G

35

45 .

49
98

Go on to Booklet B
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PAPER1
(Booklet B)

Instructions to Pupils:

Do not open this booklet until you are told to do so.
Follow all instructions carefully.
You are not allowed to use a calculator

hON =

Answer all questions.

Section Maximum Mark Marks Obtained

Paper 1 (Booklet B) 20

* This booklet consists of 8 pages (including this cover page)

This paper is not to be reproduced in part or whole without the permission of the Principal.



Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

(10 marks)

2
16. How many sixths are there in 4 ?3- ?

Ans:

17. Find the difference between 75 tenths and 218 hundredths.

Ans:

18. The table below shows the sale of coupons for a school carnival.

Category Coupon prices (in dollars) | Number of coupons sold
A $2 2015
B $5 923
-C $10 376

Which category of coupons fetched the greatest amount of money?

Ans: Category




5
19. Express ; of 2.7 ¢ in millifitres.

Ans: . __ml

’ 1
20. Mrs Tan started baking at 10.45 a.m. lttook her 2 2 h.
What time did she finish baking?

Ans: p.m.

21. -Farhan boughta pair of rolier blades at 30 % discount.
How much did he pay for it?

Usual price:. $89

Ans: $




22. Inthe figure below, PQRIis a straight line.
What is the area of the tiangle SQR?

Ans: cm?
23. Two pencils are placed next to a scale.
What is the total iength of the two pencils?
It;ll’llli”l!l‘llll’ |||1 l'll‘ l'l-l 1138t
Illl!l:lll'}lll’l'll’-‘ l.(ll_lll' [ A% fllti
o 1 2 3 4 5 64 7 8cm
Ans: cm




24. The net shown below can be folded to form a cuboid.
What is the volume of cuboid?

7cm
———

15cm

3cm

25. PQand QR are two sides of a parallelogram. Complete the paralielogram by
drawing the other two sides in the square grid below.




Questions 26 to 30 carry 2 marks each. Show your workings clearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

{10 marks)

26. The average of 6 consecutive odd numbersis 54.
What is the largest of the 6 numbers?

27. Tina had 90 sweets. She gave 3p sweets to her sister. Then she gave the rest
to her four friends and they shared equally among themselves. How many
sweets did each friend get? Leave your answer in terms of p.

Ans:




28.

29.

The figure is made up of 5 circles arranged in a straight line.
Line AB passes through the centre of the 5 circles.

What is the total perimeter of the figure?

(Take #=3.14)

Ans:

The figure below is not drawn to scale. AEC and BCD are straight lines.

Find the value of 2y.

cm




Blue

Orange

Green

72

Purple
blue was not drawn. Complete the bar graph by drawing the bar for this colour

in the bar graph below. The bar that shows the number of children who chose
in the graph below.

During a carnival, each child got to choose one pen. The pie chart shows the
The number of children who made their choice forveach colour is also shown

Sarsa pens were available in 4 colours: blue, orange, green and purple.
children’s choice of pen colours.

30.
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Colour

Green

Orange
End of paper. Have you checked your work?




Answer

| IV 4

EXAM PAPER 2014
SCHOOL : ROSYTH
PRIMARY: P6

SUBJECT : MATHEMATICS
TERM : SA1

QL | Q2 | Q3|Q4 | Q5 | Q6| Q7

Q8

Q9 |Q10}Q11 | Q12 | Q13|Q14} Q15

2 | 3 |2 |3 |1 |3 |33 |3 |21 |2 [4]3]:3
16)28 17)5.32 18)B 1.9)1500 mi 20)1.15 p.m.
21)$62.30 22)17.5 cmz 23)11.8 cm 24)105 cm:
25) 26)59 27)90-3p 28)25.12 cm
4
NN 1 11 29)35° 30)blue = 40
N TR e
| ] - k
L1\
-
Q



Answer Key


